VALVES Delta INC

2 Piece Ball Valve Flanged PN16/PN40, Full Port

Features

1.Face to face: DIN 3202 F4/F5

2.End Flange: DIN2633

3.Design: ANSI B16.34 oY >

4 Investment casting ;
Z— y ocC Al
5.Blow-out proof stem 4 A
6.Pressure: PN16/PN40 Z L, P
Options \
1. Carbon/ Stainless steel body \
construction
. ; ; ; OK iy
2. Locking device available if / .
requested 7
. &3
Materials List
E - NO. PART NAME MATERIAL
A J'I > BODY 1.4408/ 1.0619/
ki = EN1503-1 EN1503-1
9) 2 BALL SS316 55304
i 28) 5 STEM 55316 55304
H2 lsans! %) 3 Hiben 1.4408/ 1.0619/
{  —" — N, EN1503-1 EN1503-1
1T i 11 BODY SEAL PTFI
\@ 12 SEAT RTFE.
13 | _THRUST WASHER PTFE.
W 14 STEM PACKING PTFE.
DRL_ \q 15 GLAND BUSH 55304
S J4 19 HANDLE 55304
oG oJ o P ~ 21 HANDLE COVER PLASTIC
l_ o) 2 STEM NUT SS304
\’g} 24 HANDLE NUT 55304
\ &) 28 LOCKING PAD 55304
s 29 | BELLEVILLE WASHER 55301
= 30 TAB WASHER 55304
N 33 STOP PIN 5304
MxON | s = SO ASTMA193 | ASTMA193
Gr.B8 Gr.B7
- - 3 ——— ASTMA193 | ASTMA193
Gr8 Gr.2HM

PN16/PN40 Dimensions

Size PORT| L E H H2 H4 C oYy | G | @I [%)1 T b M ON | OK Z
DN15 1/2" | 15.0 {115.0]132.0| 80.0 | 85 | 385 | 9.0 | 11.2 | 95.0 | 65.0 | 45.0 | 16.0 | 2.0 4 14.0 | 42.0 | M5*0.8P
DN20 3/4" | 20.0 | 120.0 |132.0| 845 | 85 [ 425 | 9.0 | 11.2 {105.0]| 75.0 [ 58.0 | 18.0 | 2.0 4 14.0 | 42.0 | M5*0.8P
DN25 1" | 25.0 |125.0[{166.0|102.0| 12.0 | 52.0 | 11.0 | 14.3 |115.0| 85.0 | 68.0 | 18.0 [ 2.0 4 14.0 | 50.0 | M6*1.0P
DN32 1 —1f4q 32.0 1 130.01166.0]105.0| 12.0 | 56.0 | 11.0 | 14.3 | 140.0|100.0) 78.0 | 18.0 | 2.0 4 18.0 | 50.0 | M6*1.0P
DN40 1-1/2"| 38.0 | 140.0|198.0/125.0| 12.0 | 65.3 | 14.0 | 18.0 | 150.0|110.0| 88.0 | 18.0 | 2.0 4 18.0 | 70.0 | M8*1.25P
DN50 2" | 50.0 [150.0[198.0{132.0| 12.0 [ 73.8 [ 14.0 | 18.0 [165.0| 125.0{102.0| 20.0 | 2.0 4 18.0 | 70.0 | M8*1.25P

@: https://deltafittings.com/ @ : info@deltafittings.com @ 1 4919331027521, +918961407768
|




